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Write your Centre Number and Candidate Number in the spaces provided at the top of this page.
You must answer the questions in the spaces provided.

Do not write outside the boxed area on each page, on blank pages or tracing paper.
Complete in blue or black ink only. Do not write with a gel pen.

Answer all fourteen questions.

Any working should be clearly shown in the spaces provided since marks may be awarded for
partially correct solutions.

You must not use a calculator for this paper.

The total mark for this paper is 50.

Figures in brackets printed down the right-hand side of pages indicate the marks awarded to
each question or part question.

Functional Elements will be assessed in this paper.

Quality of written communication will be assessed in Questions 7 and 13.

You should have a ruler, compasses and a protractor.

The Formula Sheet is on page 2.
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Formula Sheet

Volume of prism = area of cross section X length Area of trapezium — %(a +b)h
—
A
/ h
\ 4
Cross ) b g

section
length

Volume of cone = %nrzh

Curved surface area of cone = ntr/

Volume of sphere = 3773

Surface area of sphere = 472

' In any triangle ABC

C
b a
Quadratic Equation A B
The solutions of ax?> + bx + ¢ =0 ¢
where a # 0, are given by
a b c
[12 Sine Rule: = =
x:_bi b” — 4ac sind sinB sinC

2a
Cosine Rule: a2 = b? + ¢? — 2bc cos A

Area of triangle = % ab sinC
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1 Given that 32.5 x 24 = 780, write down the value of

9469.05 R

(a) 32.5x24

(b) 78 24

() 32.5x 12

Answer

Answer

Answer

[1]

[1]

[1]

[Turn over
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2 The graph shows a journey by coach from Bridgetown to Mayfield.

100
Mayfield
80 y
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=
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/
. /
Bridgetown

09.30 10.00 10.30 11.00 11.30

Time

(a) Calculate the average speed for the complete journey from Bridgetown to Mayfield.

Answer km/hr [2]
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(b) Further on from Mayfield is Kingsrow which is 100km from Bridgetown.
A coach leaves Kingsrow at 0945 and travels towards Bridgetown at an average
speed of 80km/hr until it reaches Bridgetown.

(i) Draw a graph to represent its complete journey on the grid opposite. [3]

(ii) Estimate the time at which the two coaches pass each other.

Answer [1]

3 s=ut++ar

Find the value of s whenu = 80, a = -5and ¢t = 4

Answer s = [3]

[Turn over
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4 (a) Enlarge shape E by scale factor 2 with centre of enlargement (-3, 4).

Label your new shape T.

........................

...................................

""""""""""""""""""""

...................................

__________________________________

...................................

..................................
-----------------------------------
.................................

...................................

[3]

(b) Express the ratio of the area of T to the area of E in the formn : 1
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(a) Reflect triangle A in the line y =1

..................................................................... 2]
(b) Describe fully the single transformation that moves triangle A to triangle B.
2]
[Turn over

*16GMT6107*




6 (a) Use only a ruler and a pair of compasses to construct an equilateral triangle of

side length 7cm.
Show all your construction arcs.

(b) Use only a ruler and a pair of compasses to bisect the angle ABC in the triangle

below.
Show all your construction arcs.

9469.05 R

[2]

[2]

*16GMT6108*

R 186

mmmmmmm

,,,,,,,

H
)

[

s

--------

Remmardicy

--------



RONYR/OPO QO QX

Mg |

.......

YINONION

Quality of written communication will be assessed in this question.

7 Aidan, Ben and Caitlin all spin a spinner 20 times each.
They keep track of their scores of 1, 2 and 3 using a tally chart.

wan VWL ALAS
L
Caitlin H | | 1] |

They all used the same one of the following four spinners.

W

(P

X Y

"

Y

2

P

Which spinner do you think they used?

Explain clearly why you have made this choice.

Answer Spinner

because

Z

w @
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8 The heights of patients attending a medical centre are recorded in a frequency table.

Height (cm)

110 =<h<130

130 <h <150

150 <h <170

170 <h <190

Frequency

47

168

236

29

What is the probability that the next patient who enters the centre has a height
between 130cm and 150cm?

Answer [2]
9 The mass of Particle P has been recorded as 0.000 000176 ¢.
The mass of Particle Q has been recorded as 14.9 x 10" g.
Which particle has the bigger mass and by how much?
Give your answer in standard form.
Answer Particle by g [3]
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10 Assume that every day in Northern Ireland can be described as being either wet or dry.
If it is wet today the probability of it being dry tomorrow is 0.4

If it is dry today the probability of it being wet tomorrow is 0.2

On Monday it is wet.

RORORE

%) (a) Complete the tree diagram to show the probability of it being wet or dry on
Ice Tuesday and Wednesday.

Arwarig |

.........

MONDAY TUESDAY WEDNESDAY

WET

WET
DRY

/A

WET

\

........ ; DRY
[3]

-t

Fwearsivg |

(b) Calculate the probability that both Tuesday and Wednesday are dry.

Answer [2]

[Turn over
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11 Rewrite 3a — b = ¢(2 — a) to make a the subject.

Answer a =

[3]

12 Write 0.318 as a fraction.

Answer
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Quality of written communication will be assessed in this question.

13 Helen says that the probability of getting exactly one head when two coins are tossed
is the same as the probability of getting exactly two heads when four coins are tossed.

Is Helen right?
Show clearly all your working.
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14
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xv?2
5—4/5

=5+4/5

Work out the value of x.
Give your answer in the form a+/b where a and b are integers.

Answer

THIS IS THE END OF THE QUESTION PAPER

[4]
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